TERM 1- 2014 MID-TERM EXAM

FORM 3, COMPUTER STUDIES

TIME: 2 ½      HOURS

Instruction

Answer all the questions:

1  
Define the following terms







(2 marks)


i) Information


ii) Processing

2
a) What are peripheral devices?







(1 mark)

      b) Distinguish between cold booting and warm booting



(2 marks) 

3.  
Briefly explain why parallel transfer is faster than serial data transfer 

(2 marks)

4. State the functions of the main memory






(2 marks)

5. The flash disk has become most popular storage device today. Give four reasons for its popularity















(2 marks)

6. Explain following  human computer interface





(3 marks)


i. Command line interface.


ii. Menu driven interface. 


iii. Graphical user interface. 

7.
a) State four factors to consider when buying a printer




(4 marks)


b) What is an operating system?







(2 marks)

8. State four factors considered when choosing an operating system


(4 marks)

9. Give three control measurers you would take to avoid unauthorized access to data  and information















(3 marks)

10. Describe what the following condition entails and suggest ways in which they can be  reduced (2 marks)


  i) Repetitive Strain Injury (RSI)


  ii) Computer Vision Syndrome (CSI)

11. a) Give two reasons for partitioning a disk




(1 mark)

      b)
State four types of application software and give examples of each  
(4 marks)

12.
Define the following terms:


    i) Word processor







(1 mark)

        ii) State three advantages of using a word processor



(3 marks)

13. a) State the purpose of word processing





(2 marks)

     b) Give examples of word processors





(2 marks)

14.a) Subtract 01112 from 10012





            (1mk)

  b) Using two’s complement subtracts 2 from 7 and give the answer in decimal notation.
 








(4mks)

c) Convert:    (i) 91B16 to octal






           (3mks)

                         (ii) 3768 to hexadecimal
                    



          (3mks)

                        (iii) 9.62510 to binary





          (4mks)

15.  
(a) What is the hexadecimal equivalent of 7678



(3 mks)


   (b) Use one’s compliment to solve the following sum: -510


(2 mks)


(c) State two reasons for using binary in digital technology


(2 mks)


………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


(d) Explain the role of a modem in data communication


(2 mks)


……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


(e) Describe each of the following computer terminologies as used in data representation  







     















  (4 mks)

(i) Word 

………………………………………………………………………………………………………………………………………………………………………………

(ii) Bit 

………………………………………………………………………………………………………………………………………………………………………………

(iii) Byte

………………………………………………………………………………………………………………………………………………………………………………

(iv) Nibble

………………………………………………………………………………………………………………………………………………………………………………

(f) Convert 7.12510 to binary





(2 mks)

16.
(a) Describe the ways in which a computer can represent a position and negative number.
(2mks)

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

(b) A particular computer stores numbers in a single 8 – bit word. How would it represent 0.312510?









(3mks)

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 


(c) What is the decimal equivalent of the number 1.01112?

(2mks)

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 


(d) Perform the decimal subtraction 1410 – 610 using


(i) Regular binary.






(3mks)

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 


(ii) One’s complement.





(5mks)

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………………………………………………………………………………………………….
17. a). Explain three coding schemes





(6 marks)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….…

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
b). Using one’s and two’s complement, work out 9 – 14.


(6  marks)

i). One’s complement

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

ii).Two’s complement

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
c). Workout the hexadecimal equivalent of 1011 1110 00112 .

(3 marks)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….……
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